## Časopis pro pěstování matematiky

G. G. Hamedani

Global existence of solutions of certain functional-differential equations

Časopis pro pěstování matematiky, Vol. 106 (1981), No. 1, 48--51
Persistent URL: http://dml.cz/dmlcz/108281

## Terms of use:

© Institute of Mathematics AS CR, 1981

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.
This paper has been digitized, optimized for electronic delivery and stamped
with digital signature within the project DML-CZ: The Czech Digital
Mathematics Library http://project.dml.cz

# GLOBAL EXISTENCE OF SOLUTIONS OF CERTAIN FUNCTIONAL-DIFFERENTIAL EQUATIONS 

G. G. Hamedani, Tehran

(Received June 8, 1978)

In this paper we are concerned with the problem of the existence and uniqueness of solutions of the following functional-differential equations

$$
\begin{equation*}
y^{\prime}(x)=f\left(x, y\left(h_{1}(x)\right), \ldots, y\left(h_{n}(x)\right), y^{\prime}\left(h_{n+1}(x)\right), \ldots, y^{\prime}\left(h_{n+m}(x)\right), u\right) \tag{1}
\end{equation*}
$$

in the interval $J=(-\alpha, \alpha), 0<\alpha \leqq \infty$, where $h_{i}, i=1,2, \ldots, n+m$ are continuous on $J$ into $J, f$ is a continuous vector-valued function on $J \times E^{k} \times \ldots \times E^{k} \times$ $\times E$ into $E^{k}$ satisfying the global Lipschitz condition

$$
\begin{equation*}
\left|f\left(x, y_{1}, \ldots, y_{n+m}, u\right)-f\left(x, y_{1}^{*}, \ldots, y_{n+m}^{*}, u\right)\right| \leqq \sum_{i=1}^{n+m} z_{i}(x)\left|y_{i}-y_{i}^{*}\right| \tag{2}
\end{equation*}
$$

for every $\left(y_{1}, \ldots, y_{n+m}\right),\left(y_{1}^{*}, \ldots, y_{n+m}^{*}\right) \in\left(E^{k}\right)^{n+m}, x \in J, u \in E$, and nonnegative continuous functions $z_{i}(x), i=1,2, \ldots, n+m$ defined on $J$ so that:
(i) there exists a constants $K>0$ such that $z_{i}(x) \leqq K$ for $i=1,2, \ldots, n$, for all $x \in J$;
(ii) there exists a constant $C, 0 \leqq C<1$ such that $\sum_{i=n+1}^{n+m} z_{i}(x) \leqq C$ for all $x \in J$. Here $|\cdot|$ denotes the usual norm in $E^{k}$.
An equation of this has been studied under different assumptions by many authors; see, e.g. [6], [7]. The exact form of (1) has been investigated, under still different assumptions, by St. Czerwik in ([3], [4]) where he takes a general Banach space instead of $E^{k}$.

We use here the ideas of [2] employed in [5] to establish a theorem on the existence of a unique solution of (1). We shall also consider the problem of continuous dependence of solutions of $(1)$ on a parameter $u$. The results of this paper extend that of [5].

Following [5], we let $\left\{I_{j} \mid j \geqq 1\right\}$ be an increasing family of compact intervals which contain zero and $\bigcup_{j} I_{j}=J$. We denote by $c\left(I_{j}\right)$ the Banach space of continuous vector-valued functions $g: I \rightarrow E^{k}$ with norm

$$
\begin{equation*}
\|g\|_{(j, \lambda)}=\sup _{x \in I_{j}}\{\exp (-\lambda|x|)|g(x)|\}, \tag{3}
\end{equation*}
$$

where $\lambda$ is an arbitrary parameter. The Fréchét space $c(J)$ may be topologized by the family of seminorms $\left\{\|g\|_{(j, \lambda)} \mid j \geqq 1\right\}$. If $\lambda=0$, the spaces $c\left(I_{j}\right)$ have the usual sup norm $\|\cdot\|_{0}$ on $I_{j}$.

Theorem 1. If the function $f\left(x, y_{1}, \ldots, y_{n+m}, u\right)$ satisfies (2), and if

$$
\begin{equation*}
x h_{i}(x) \geqq 0, \quad\left|h_{i}(x)\right| \leqq|x|, \quad x \in J, \quad i=1,2, \ldots, n+m \tag{4}
\end{equation*}
$$

then the initial value problem $y(0)=y_{0}$ has a unique solution $y$ for every $y_{0} \in E^{k}$, which is given as the limit of successive approximations.

Proof. Let $I$ be a compact subinterval of $J$ containing zero and for simplicity, denote the norm of $g \in c(I)$ by $\|g\|_{\lambda}$. From (3), it follows that the norms $\|g\|_{\lambda}$, for arbitrary real $\lambda$, are all equivalent to the norm $\|g\|_{0}$. The identity

$$
\begin{equation*}
\left|\int_{0}^{x} \exp (\lambda|t|) \mathrm{d} t\right|=\frac{1}{\lambda}\{\exp (\lambda|x|)-1\} \tag{5}
\end{equation*}
$$

is valid for every $x \in J, \lambda>0$.
We shall reduce our problem by substitution $g(x)=y^{\prime}(x),\left(y(x)=y_{0}+\int_{0}^{x} g(s) \mathrm{d} s\right)$ to the following equation

$$
\begin{gather*}
g(x)=f\left(x, y_{0}+\int_{0}^{h_{1}(x)} g(s) \mathrm{d} s, \ldots\right.  \tag{6}\\
\left.y_{0}+\int_{0}^{h_{n}(x)} g(s) \mathrm{d} s, g\left(h_{n+1}(x)\right), \ldots, g\left(h_{n+m}(x)\right), u\right)
\end{gather*}
$$

Let $u \in E$ be fixed. It is obvious the transformation $\Phi=T(g)$ defined by the righthand side of (6) maps $c(I)$ continuously into itself. We shall prove that

$$
\begin{equation*}
\left\|T g_{2}-T g_{1}\right\|_{\lambda} \leqq\left(\frac{n K}{\lambda}+C\right)\left\|g_{2}-g_{1}\right\|_{\lambda} \tag{7}
\end{equation*}
$$

for all $g_{1}, g_{2} \in c(I)$ and $\lambda>0$. Using (2) and the definition of $\|\cdot\|_{\lambda}$ we have:

$$
\begin{gathered}
\left|T g_{2}(x)-T g_{1}(x)\right| \leqq \sum_{i=1}^{n} z_{i}(x) \mid \int_{0}^{h_{i}(x)}\left(g_{2}(s)-g_{1}(s)\right) \mathrm{d} s+ \\
+\sum_{i=n+1}^{n+m} z_{i}(x)\left|g_{2}\left(h_{i}(x)\right)-g_{1}\left(h_{i}(x)\right)\right| \leqq \mid \\
\leqq \sum_{i=1}^{n} z_{i}(x)\left|\int_{0}^{x}\right| g_{2}(s)-g_{1}(s)|\mathrm{d} s|+\sum_{i=n+1}^{n+m} z_{i}(x)\left|g_{2}\left(h_{i}(x)\right)-g_{1}\left(h_{i}(x)\right)\right| \leqq
\end{gathered}
$$

$$
\begin{aligned}
& \leqq \sum_{i=1}^{n} z_{i}(x)\left\|g_{2}-g_{1}\right\|_{\lambda}\left|\int_{0}^{x} \exp (\lambda|s|) \mathrm{d} s\right|+ \\
& +\sum_{i=n+1}^{n+m} z_{i}(x)\left\|g_{2}-g_{1}\right\|_{\lambda} \exp \left(\lambda\left|h_{i}(x)\right|\right) \leqq \\
& \quad \leqq\left\|g_{2}-g_{1}\right\|_{\lambda}\left(\frac{n K}{\lambda}+C\right) \exp (\lambda|x|)
\end{aligned}
$$

where we have used (4) and ((4), (5)) to obtain the second and the fourth inequalities respectively. Thus

$$
\left\|T g_{2}-\operatorname{Tg}_{1}\right\|_{\lambda} \leqq\left(\frac{n K}{\lambda}+C\right)\left\|g_{2}-g_{1}\right\|_{\lambda}
$$

Now choose $\lambda>0$ so that $n K / \lambda+C<1$ and apply the classical Banach contraction principle to $T$ and the distance function $\left\|g_{2}-g_{1}\right\|_{\lambda}$ to complete the proof.

Now we consider the problem of continuous dependence of solutions of our problem on a parameter $u$.

Theorem 2. Let the hypotheses of Theorem 1 be satisfied. If there exist a constant $M$ and a function $G: J \rightarrow J$ such that for every $x \in J, u, u_{1} \in E,\left(y_{1}, \ldots, y_{n+m}\right) \in$ $\in\left(E^{k}\right)^{n+m}$

$$
\left|f\left(x, y_{1}, \ldots, y_{n+m}, u\right)-f\left(x, y_{1}, \ldots, y_{n+m}, u_{1}\right)\right| \leqq G(x)\left|u-u_{1}\right|
$$

and

$$
\sup _{x \in J}\{\exp (-\lambda|x|) G(x)\} \leqq M
$$

then solutions $y(x, u)$ of (1) fulfilling $y(0, u)=y_{0}$ is continuous with respect to the variables $(x, u)$ in $J \times E$.

Proof. For $g \in c(I)$ we define the transformation $T_{u}(g)$ by the right-hand side of the equation (6). From (7) we have

$$
\left\|T_{u}(g)-T_{u}(y)\right\|_{\lambda} \leqq\left(\frac{n K}{\lambda}+C\right)\|g-y\|_{\lambda}
$$

From the hypotheses we obtain

$$
\exp (-\lambda|x|)\left|T_{u}(g)(x)-T_{u_{1}}(g)(x)\right| \leqq G(x)\left|u-u_{1}\right| \exp (-\lambda|x|)
$$

and hence

$$
\left\|T_{u}(g)-T_{u_{1}}(g)\right\|_{\lambda} \leqq M\left|u-u_{1}\right|
$$

From theorem 1, there exist unique function $g(x, u), g(., u) \in c(J)$ such that

$$
\begin{gathered}
y(x, u)=y_{0}+\int_{0}^{x} g(s, u) \mathrm{d} s, \\
T_{u}(g(x, u))=g(x, u), T_{u_{1}}\left(g\left(x, u_{1}\right)\right)=g\left(x, u_{1}\right) \text { for } x \in J .
\end{gathered}
$$

Therefore, we have

$$
\begin{gathered}
\left\|g(x, u)-g\left(x, u_{1}\right)\right\|_{\lambda} \leqq\left\|T_{u}(g(x, u))-T_{u}\left(g\left(x, u_{1}\right)\right)\right\|_{\lambda}+ \\
+\left\|T_{u}\left(g\left(x, u_{1}\right)\right)-T_{u_{1}}\left(g\left(x, u_{1}\right)\right)\right\|_{\lambda} \leqq\left(\frac{n K}{\lambda}+C\right)\left\|g(x, u)-g\left(x, u_{1}\right)\right\|_{\lambda}+M\left|u-u_{1}\right|
\end{gathered}
$$

Hence

$$
\left\|g(x, u)-g\left(x, u_{1}\right)\right\|_{\lambda} \leqq\left(1-\left(\frac{n K}{\lambda}+C\right)\right)^{-1} M\left|u-u_{1}\right|
$$

Consequently the function $g$ is continuous with respect to the variable $x \in J$, uniformly with respect to the variable $u \in E$; so $y$ is also continuous with respect to two variables $(x, u) \in J \times E$, which completes the proof.

Aknowledgement. The author is grateful to professor V. Ďurikovič for pointing out an error in the proof of theorem 1 and for his comment on the correction. The author is also grateful to professor J. KURZWEIL for his valuable suggestion strengthening Theorem 1.

## References

[1] A. Bielicki: Une remarque sur le methode de Banach-Cacciopoli-Tikhonov dans la theorie des equations differentielles ordinaires, Bull. Acad. Polon. Sci. 4, 1956, pp. 261-264.
[2] S. C. Chu and J. B. Diaz: A fixed point theorem for ,,in large" applications of the contraction principle, A.D.Ac. di Torino, Vol. 99 (1964-1965), pp. 351-363.
[3] St. Czerwik: On a differential equation with deviating argument, Comment. Math. (to appear).
[4] St. Czerwik: On the global existence of solutions of a functional-differential equation, Periodica Math. Hung. Vol. 6 (4), (1975), pp. 347-351.
[5] W. Derrick and L. Janos: A global existence and uniqueness theorem for ordinary differential equations, Canad. Math. Bull., Vol. 19 (1), (1976), pp. 105-107.
[6] D. Driver: Existence and continuous dependence of solutions of a neutral functional-differential equation, Arch. Rational Mech. Anal. 19 (1965), 149-166. MR 31\#3654.
[7] M. Kwapisz: On certain differential equations with deviated argument, Prace Mat. 12 (1968), 23-29, MR 38\#3550.

Author's address: Department of Mathematics and Computer Science, Arya-Mehr University of Technology, Tehran, Iran.

